Science 10

8.2- Cell Transport Worksheet

Mrs. Aitken


CELL TRANSPORT WORKSHEET



NAME:                              .
Water Transport
Diffusion= the movement of particles from                      concentration to 
  
concentration
Osmosis is the specific diffusion of                              particles   .
We can explain Osmosis occurring in 3 different ways: Hypotonic, Hypertonic, or Isotonic.
When a cell is in a hypotonic solution it means that: the solution around the cell has less                     than inside the cell. 
Which direction does the water move?
An example of what happens to a cell in a hypotonic solution would look like this:

When a cell is in a hypertonic solution it means that: the solution around the cell has more                     than inside the cell. Which direction does the water move?
An example of what happens to a cell in a hypertonic solution would look like this:
When a cell is in an isotonic solution it means that: the solution around the cell is                                        as  inside the cell. Which direction does the water move?
An example of what happens to a cell in an isotonic solution would look like this:

Particle Transport
Diffusion= the movement of particles from                      concentration to 
  
concentration
Different particles need to be transported in and out of the cell. When no energy is used, it is called passive transport. When ATP energy is used it is call Active Transport. 

Label each of the types of particle transport found in the cell by filling in the blanks.
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1. What is the difference between passive transport and active transport?

2.  Why do some particles have to pass through protein carriers instead of diffusing through the membrane?

3. Why does active transport require energy?

The diagram uses arrows to show the chronological order of the following processes. Label the missing text boxes.

a) (first picture)= Process of

 
b) (second picture) = Process of
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4. What is the difference between endocytosis and exocytosis?

5. Why would the cell need to undergo endocytosis?

6. Why would the cell need to undergo exocytosis?
Using ATP energy =	          Transport





No energy used =     	    	          Transport








